Evaluate the following integrals, or explain why they can’t be evaluated. SCORE: /60 PTS
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Using proper English and mathematical notation, state all parts of the Fundamental Theorem of Calculus. SCORE: /15 PTS
(The Net Change Theorem is one of the parts.)

See SOLUTION OF QU2 5
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Find d—(x2 cosh™ 4x +sech/x). SCORE: /15 PTS
X

You may use any hyperbolic identities or the derivatives of any hyperbolic functions without proving them.
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If f is continuous and j F() dt =6, find J'(5+4 f(3-20)dr. SCORE: /15 PTS
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Let g(x) = _[ f(t)dt, where f isthe function whose graph is shown on the right. SCORE: /30 PTS
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[a] Find g(2).
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[b] Find g'(2). Explain your answer very briefly.
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[c] Find all local minima of g . Explain your answer very briefly.
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[d] Find all inﬂeétion points of ¢ . Explain your answer very briefly.
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Prove that 77” < I36x cosx dx <277, SCORE: /15 PTS
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